MAIRCY

HOME GYM
MWM-4965SC

AAANNNNVY

IMPORTANT: Please read the Important Safety Notice and Assembly Information in the
Owner’s manual before assembling this product.

Assembly Manual
230307




9x 3

@xz ><2 ><6

§ i i o
G 10 69X 1

] i il
GDx2 6O x 2

é m rﬂ T 1) (T 1) T
GIX 1 6Dx 1 69x 43 6% 2
0 1 2 3 4 ] 7 8 b 10 1 18 16 17 g8 19 20 21 22
S B R e

O©IMPEX INC.

www.marcypro.com



www.marcypro.com

O©IMPEX INC.



O©IMPEX INC. 3 Www.marcypro.com



89X 1

O©IMPEX INC. 4 WWww.marcypro.com



|

! e

O©IMPEX INC. 5 WWww.marcypro.com



@ © 2 oY oD 2 MI0

O©IMPEX INC. 6 WWww.marcypro.com



M10

www.marcypro.com

O©IMPEX INC.



|>@//././././././././././././va

WWW.Mmarcypro.com

O©IMPEX INC.



6 Gmm 2 wiox ¥

G—mmm 2 M10X2

M10

www.marcypro.com

O©IMPEX INC.



AN

1

)

www.marcypro.com

ANNANARARANNNNN N e

/ /
4
I
=&

Q)

10

O©IMPEX INC.



@ %//X4//><M10

1

,/

-/y..............a\

11 WWww.marcypro.com

O©IMPEX INC.



O
—
=

@1// X@ %l/

4

om

WWW.marcypro.c

12

O©IMPEX INC.



G) d——mm 2 MSX 2

4 M8 >< %//

Q0 G

R
LOICO

LS

I

www.marcypro.com

13

O©IMPEX INC.



AU INNNNRRNNNNY M\

www.marcypro.com

£ NN

DA
-
H

M12X 3 %7

1

A

10

14

O©IMPEX INC.



11

Q (-
[aelhSy —
=

www.marcypro.com

15

AL INNNNNNNN

SESE S
Y

vy 9/:’/
% s

6 6
6w 2 M10X2 Y

O©IMPEX INC.



M6

8 M6>< g/f

@9 G

@ 10 @ %/[

12

www.marcypro.com

16

O©IMPEX INC.



3 MIOX1 $”

6 6 —wm

S 4 M10X2 §

® [J©

www.marcypro.com

17

O©IMPEX INC.



%” @ é:w 3 MIO >< 1 %”

© 6 0Y 2 p——m—0 1
D
@

O©IMPEX INC. 18 WWwWw.marcypro.com



4 MIOX1 ¥”

1577

60 6 _um

@w 4 M10X2 Y
® [

WWW.marcypro.com

19

O©IMPEX INC.



® &)

1

1

7# Clip hooks

Chain

16

AANTNNNNNVY

O©IMPEX INC.

20

www.marcypro.com



EXPLODED DIAGRAM

|

|

S fo—@

® ® L ®
@ ) (\‘

O©IMPEX INC. 21 WWww.marcypro.com



IMPEX® INC.

2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
WWW.Mmarcypro.com

support@impex-fitness.com

O©IMPEX INC.

22

www.marcypro.com



http://www.marcypro.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

